Standard Deviation

Measure of Spread



Which graph matches each description?
(i) mound shaped (ii) bell-curve (iii) left skew
(iv) bi-modal (v) right skew (vi) u-shaped
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Which graph could have:
A mean of 16, a median of 16 and modes of 2 and 227




Which graph could have:
A mode of 4, median of 8 and a mean of 127

,..___,
| . i
B i
s NS
‘ : (
2 > o]

eedp—
~
|
{
- R - 1
|
! !
e —g
/
> - = — AJ\I
SN S

{ !
=3 1
y 1]
|
! |
v—— - (
zA//A
\',',;n;‘i\__,’_;r—r« i B S -



Which graph could have:
A mode of 34, median of 34 and a mean of 347
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Frequency

Histograms for IQ Test Components

IQ Verbal
SD=79
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SD=02

Measure of

Central

O1 > 02

Tendency

Measure of
Spread




How
consistent
is the data?

Measure
of Spread

How tightly is
the data
grouped

around the
mean?

How
similar is
the data?

How much
spread is in
the data?




o= 0.15 (for all cases)

Case1 Basecase Case?
x =0.3 x=0.5 x =0.7

0.3 0.5 0.7 1.0
Line Length



Rank in terms of the mean. Rank in terms of how spread out the data is.
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Which class is
better A or B?
Why?

Which class is
better A or B?
Why?
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Calculate the standard deviation of 34, 35, 23, 45, 47, 39, 36.
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Calculate the standard deviation of 34, 35, 23, 45, 47, 39, 36.




Calculate the standard deviation of 34, 35, 23, 45, 47, 39, 36.




Calculate the standard deviation of 5, 6, 7, 8, 9, 10, 11.



Calculate the standard deviation of 5, 6, 7, 8, 9, 10, 11.



Calculate the standard deviation of 5, 6, 7, 8, 9, 10, 11.
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Calculate the standard deviation of 5, 6, 7, 8, 9, 10, 11.
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Calculate the standard deviation of:



Calculate the standard deviation of:
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This actually means:

80 90 70
30 /70
/70
70
/70
/70
70

60
60
60
60

50
50
50
50
50
50

40
40
40
40



Calculate the standard deviation of:




Calculate the standard deviation of:




Calculate the standard deviation of:
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